W. hederae

Solute conc. € {NaCl(5%), GZUCOSE(QO%),NOTLE}‘

ves

| Solute € {NaCl} |

ves

/

CLOM;
MOLgy
INDO3
END>
ERGO,

10.00
6.50
4.25
2.00
2.00
=0

no

N

CLOM,
INDO;3
OFLO3
PALO;
ERGO,
DIPICs
DOBx

DAB x

12.50

7.50
7.50
5.00
5.00
2.50
2.50
2.50
=0

no

| Solute € {MgCly} |

7N

ENDyy  105.00 MOL3; 11.50

PALs;  60.00 =0
PALsy  3.50
-0



W. sebi

Solute cone. € {NaCl(5%), NaCl(15%), Glucose(20%), No-ne}l

ves no
Solute conc. € {NaC[(lS%)}l |Snl ute cone. € {MgCly(11%)} |

ves o yes no
ROED; 110.20 PALy, 2.0 Solute € {MgCl,}
YEL;  34.40 DOLy, — 2.00
MOL,  17.90 v - INDOgy  1.80 o o
DOL,  9.60 ye PALy,  0.60 *
PALO;  9.20 / =0 / i
BOM, 660  PALO; 13.00 [Solute conc. € {NaCI(5%)}] MOLz,  2.00 Solute € {NaCl}

ROED;  5.60 DOL; 12.20 PAL;;  1.00
ROED, 540 END, 10.70 Yo =0

INDO,  2.00 END;,  9.90 yes \ yes \\
YEL;  1.80  END;  7.80 / /

PALy 1.60 MOLg 6.80 MOLgy 13.85 MOLg 12.40 DOL;, 1.90 . =10
PAL: 1.20 PALO;  6.00 DOL,y 13.10 PALO;  8.60 ROED;, 1.60
RAI, 1.00 OFLO;  5.60 PAL, 11.50 DOL, 7.70 MOLg 1.10
YEL, 1.00 PAL, 5.40 PALO; 1145 PAL; 7.20 =
=10 BOM,  4.70 BOM,  7.95 ERGOy  3.80
PALg 4.60 INDOs  6.40 ENDy 3.60
INDOx  3.20 END; 6.30 ENDs 3.30
SEBI; 2.80 PAL, 6.00 PALg 3.20
PAL, 1.20 PALy 5.85 PAL; 1.20
ERGOy  0.80 YEL; 2.75 . =
PALy 0.60 SEBI; 2.00
=0 END, 1.70
PALO, 1.40
ERGOy 140
DIPIC; 1.00
ROED, 1.00
YEL, 0.65
INDOx  0.60
VITA, 0.50
ROED;  0.50

=0



W. mellicola

Solute conc. € {NaCl(5%), NaCl(15%), N()m-,}l

yes

Solute € {NaCl}

yes

|5()lm‘r-‘ cone. € {Nn(/'l(f]%)}l

/

ROED;
YEL;
DOL,
MOLy
END;
PAL,
PAL
PALO;
BOM,
ROED;
END,
PAL;
PAL,
RAIT,
ROED;
END,
INDO x
ERGOy
NOUy
YELy4
DIPIC,
YEL,
SEBI,
PALOy
ERU,
ERU»
RHIO,

yes

90.85
25.55
14.50
11.20

8.85
8.30
5.15
4.80
4.50
4.30
4.15
3.50
3.45
3.10
2.50
2.20
1.50
1.50
1.40
1.20
1.20
1.00
0.80
0.80
0.70
0.50

no

N

ROED,
YEL
ROED,
ROED;
MOLgy
PAL;
DOL,
BOM,
PAL,
YEL,
RAIy
PALO;
PAL,
END;
YEL,

213.80
34.10
10.60
10.00
9.90
8.00
7.90
5.60
5.40
5.20
5.00
5.00
2.20
1.00
0.80
=0

no

S

PALg
PALO;
END,
END,
DOL,
PALO,
END;
PALg
INDOx
PAL;
OFLO,
PAL,
SEBI,
RHIO,
MOLg
END;
ERGO,

20.00
17.40
13.00
12.00
10.80
10.20
8.40
6.70
6.60
6.00
6.00
5.60
2.00
1.60
1.30
1.20
0.80
=0

MOLy
DOL,
PAL;
PALO;
PAL,
PAL:
END;
END,
ERGOq
PALO,

no

| Solute cone. € {Glucose(20%)} ‘

////’

17.00
8.40
7.20
7.20
6.00
5.60
5.20
5.00
3.20
0.80

yes no

‘ Solute cone. € {A‘IQCIQ(]I%,)}|

/ yes
PALy,  2.40
PALyx 240
DOL3y  1.00
=0
INDOsg
PAL2s
PALsy

no

Solute € {MgCly}

yes

no

8.40 ‘ Solute conc. € {Nu.(‘.'(?ﬂ%)}l

1.60
1.00
=0

ROED,
YEL;
DOL,

yes

13.20
3.00
2.00
=0

no

N

MOLg
RAI,

4.80
1.00
=0



W. canadensis

|Solute conc. € {NaC’l(5%),None}|

PALOg
PALO,
PALO;
INDO;
CLOM,
END,
OFLO,
BOM,
MOL,
MOL;
END,
DIPIC,
PALOg
INDO;
PALO,
SEBI,
PALO,
RAL
INDO;
VITA,
PALO,
PALO;
PALO;
INDOg
RHIO,
DIPIC,

yes

50.00
43.33
18.33
9.33
8.67
8.33
8.33
8.00
6.67
6.67
5.33
4.00
4.00
3.33
3.33
3.33
3.00
2.67
2.67
2.33
2.33
2.33
2.33
2.00
1.67
1.33

no

| Solute € {Glucose} |

yes

<

PALO;
PALO;
CLOM,
MOL,
PALO,
PALO;
PALOg
END,
PALOg
END,

32.50
7.50
5.00
4.00
4.00
4.00
4.00
2.50
2.50
2.00
=0

no

N

PALo,
DOy
INDOsy

16.67
3.00
2.67



W. muriae

Solute conc. € {NaCl(5%), G’lucose(ZO"‘o),NOne}|

no

yF,S
yes no / yes no

PAL, 14.00 Solute cone. € {Nn.C’I(S%)}| ROED, 59.10 Solute conc. € {]\Ig(,‘lg(ll“n)}l
DOL; 650 YEL; 6.00
END;  5.80 , Yo DOL, 5.80 , Yo
PALO, 520 yes \ MOL;  5.00 e
INDO, — 4.10 / ROED,  3.60 /
PALO; 380  PALg 1430 MOLy  14.10 BOMjy 1.80 DOLyy  2.60 Solute € {Glucose}
END, 370 ROED, 1035 DOL, 890 YEL, 1.60 INDOz  1.00
ENDs  3.00  DOL, 9.65 PAL,  6.60 ROED;  1.40 ERUz  1.00 o
PAL; 300  MOL, 8.65 PAL,  3.20 YEL; 1.00 =0 yes
PAL; 240  BOM, 6.45 END;,  2.70 MODOx  1.00 / \
BOM, 220 END; 6.10 PALO; 2,40 =0 MOLg  10.30
INDOx 120  PAL, 41.80 ENDs;  1.50 DOL; 5.70
ERGO, 1.00  YEL; 2.90 =0 YEL, 220
RHIO, 1.00  PAL, 2.20 PAL; 1.50
=0  PALO; 170 RAL,  1.20

INDO; 155 END;  1.00

INDOx 135 =0

MODOy  1.10

RHIO; 100

ROED,  0.95

DIPIC;  0.70

YEL, 0.55

SEBI; 0.40
=0



W. tropicalis

|Solut€ conc. € {NaC’l(l!ﬁ%)}|

no

ves
ROED, 104.33 | Solute € {NaCl}
YEL;  10.00
YELs  8.00
ROED, 7.33 yes 1o
=0 yd \
ROED, 13.83 . =0
YEL,  3.33
ROED, 3.17
YELg 167
ERU,  0.83

=0



